Treas. Reg. § 1.722-1, Example 2
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Initial Structure

Gain on Contribution Into Partnership

= LINCOLN

With Liabilities Assumed
Q Contribution

Ending Point

2

Property

FMV = $10,000
Basis = $4,000
Subject to Mortgage
of $6,000

Partnership

l\ 20% interest\\\
\ in partnership
\ & assumption
\ of liability
\
\\
Property >« _
worth $10,000 ~ ~-
(net value
of $4,000)

Gain of $800

80%

Partnership

If, in example 1 of this section, the property contributed by A was subject to a mortgage of $6,000, the basis of A's interest would be zero,

computed as follows:

Adjusted basis to A of property contributed

$4,000

Less portion of mortgage assumed by other partners which must be treated as a distribution (80 percent of $2,000)

4,800

(800)




